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1 4 1 Kopugop 28,7
1 4 2 Tambyp 3,7

1 4 3 KabuHeT 6,0

1 4 4 Cknap, 5,9
1 4 5 KabuHeT 35,9
1 4 6 KabuHeTt 35,4
1 4 7 KabuHeT 36,8
1 4 8 KabuHeT 9,9
1 4 9 Tyanet 1,4

1 4 10 Tyanet 1,4
1 4 11 YMblBansHas 2,0
1 4 12 YMbiBanbHas 2,1

1 4 13 Kopugop 68,3
1 4 14 Kopugop 33,2
1 4 15 KnapoBas 3,9
1 4 16 Cknap, 5,6
1 4 17 NopcobHoe nomelleHne 2,8
1 4 18 KabuHeTt 17,1
1 4 19 KabuHeTt 35,2
1 4 20 KabuHeTt 20,5
1 4 21 KabuHeTt 15,8
1 4 22 KabuHeTt 48,9
1 4 23 Cknap, 3,9
1 4 24 MNopcobHoe nomelleHne 59
1 4 25 YMbiBanbHas 2,1

1 4 26 Tyanet 1,4
1 4 27 Tyanet 1,4
1 4 28 YMbiBanbHas 2,2
1 4 29 Tambyp 3,3
2 3 1 JlecTHMYHaA kneTka 15,6
2 3 2 KabuHeTt 19,4
2 3 3 KabuHeTt 23,2
2 3 4 KabuHeTt 37,8
2 3 5 KabuHeT 48,3
2 3 6 KabuHeTt 10,2
2 3 7 Cknag 7,7
2 3 8 Tyanet 1,4
2 3 9 Tyanet 1,3
2 3 10 YMbiBanbHas 2,1

2 3 11 YMbiBanbHas 2,1

2 3 12 JlecTHMYHasg kneTka 21,1
2 3 13 Cknapg 6,3
2 3 14 KabuHeTt 4,9
2 3 15 KabuHeTt 31,4
2 3 16 KabuHeTt 37,1
2 3 17 KabuHeTt 27,5
2 3 18 KabuHeTt 13,2
2 3 19 KabuHeT 51,6
2 3 20 Cknapg 3,3
2 3 21 Kopugop 67,7
2 3 22 YMbiBanbHas 2,1

2 3 23 Tyanet 1,3
2 3 24 Tyanet 1,4




2 3 25 YMbiBanbHas 2,1
3 4 1 JlecTHM4YHaA kneTka 16,3
3 4 2 KabuHeTt 20,6
3 4 3 KabuHeT 23,8
3 4 4 KabuHeTt 19,9
3 4 5 KabuHeTt 241
3 4 6 KabuHeT 18,3
3 4 7 KabuHeTt 31,1
3 4 8 KabuHeT 6,8
3 4 9 CaHysen 6,3
3 4 10 Tyanet 1,2
3 4 11 Tyanet 1,4
3 4 12 YMbiBanbHas 2,1
3 4 13 Kopugop 71,4
3 4 14 JlecTHMYHasg kneTka 22,2
3 4 15 KabuHeTt 42,5
3 4 16 KabuHeT 36,8
3 4 17 KabuHeTt 29,9
3 4 18 KabuHeTt 12,5
3 4 19 KabuHeTt 27,4
3 4 20 KabuHeTt 16,1
3 4 21 Cknap, 7,0
3 4 22 Tyanet 1,4
3 4 23 Tyanet 1,4
3 4 24 YMbiBanbHas 2,1
3 4 25 YMbiBanbHas 2,1
Ntoro 13334




